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No| BIER |#iX%£ M % T =T A =
1| 1H268 BfILAE 0.07 - - 0.07
2 A |REEHLER(EERE) 0.06 - 0.07 0.07
3 \H278 ﬁ REmS 0.07 - 0.07 -

4 X |[ERARE 0.06 0.07 0.06 -

5 YUI7UEE 0.10 - 0.11 0.07
6| 2A18 | At [ERINESHLE 0.07 - 0.06 0.08
7 B A XA 0.06 0.06 - -

8 H | PREABOOR 0.07 - 0.07 0.08
9| 1A178H ﬂz IRl B AN E 0.06 - - 0.07
10 X |HFHLE 0.07 0.09 0.08 0.09
11 [BIKR/NER 0.06 - - -

12 1B2sm | RHMRERELV 22— 0.06 0.08 0.07 0.08
13 AR 0.05 0.06 0.05 0.07
14| 2A18 | #&E |[HEREES— 0.06 - 0.06 0.06
15| 18218 | &Lt [t EREXFTURER 0.06 - - 0.06
16| 1H208 | 4R (HEEHREXMT 0.09 - 0.10 0.10
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